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What does the passage talk about?

What is the passage [ talk mainly about?

What is the main idea of the passage | talk?

What is the best title of the passage?

Xt 2K ol 248 TR, A B S T O ) o )

| DA AN A ) R ) bt T A

PUHEBEWEL. Flin.
Last Friday, a storm tore through two villages in Fujian
Province, 14 people were killed.
RAIE R — RRT AIFk RO BE R, AT
P 1o P T O OO 7 R ot AL 98 ) L R
[ 1](NMET 2003-4)
What's the man doing?
A. He's working in a hotel.
B. He's visiting a young couple.
C. He's traveling around.
W 3 3R
W:S0, how long have you been here?
M: Just a couple of days, actually. I am on a big
journey. You know, I'm visiting all the places of
interest here,

SRR Y S 0 T3 F 28 5L 4 i R 9 3 B3 S0 5
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[ 2](NMET 2003-12)
What are the speakers talking about?
AL A flight umetable.
B. The wav o Union Street.
C. Hiring a taxi.
W h ISR -
M:Good morning. City taxi.
W:Good morning. 1'd like to book a taxi to the airport
for Saturday morning, please.
M: Where from?
W:I"m at Garden Hotel in Union Street. There will be
three of us sharing. How much will it be?
M:About 3 60.
W: $ 60! Each or between us?
M: That" s all together. What time do you want to
leave?
W:Seven in the morming.
M:Right. We'll pick you up at your hotel at seven,
then. Thank you very much. Goodbye.
ORI T MR 25 260E . RIS F Sl LB
MEE R, SEML T — S22 b E 5 ——iT I 4 . & oy %
S B S “book a taxi”, “where from”. “how much”,
“what time”, “pick up ... at the hotel”. LB F BB L H
B, IEWEER C,
[ 3] (3T 2004-14)
On which aspect of the picnic do the man and woman
differ?
A. Who should get the car ready.
B. How many [riends they should invite.
C. What food and drink they should prepare.
Wit 3 B S R s — B 4 A
W:Now 1" ve got an idea. Autumn is the best season in
Beijing. Why don’ t we go for a picnic this
weekend? You'll invite your friends and 1"l invite
mine. We'll go together.
M: Good idea! 1 would see about the car and vou’ |l

prepare the food. But are vou sure you really want

all our friends to come along?

MG B G — T F AT AT LA A, i ek B,

[ 4]INMET 2004 (#87)-15)

What happened in the west?

A, Many boats were missing.

B. Four people died in a river.

C. Two villages were under water.

W 13 B S e — 6 53 <

Things are better in the west. But two villages have

been flooded by a river. Four people nearly drowned in the
flood. More storms are expected tomorrow.

ML L &) F ol R R R R C.

2. KN E LM EEEE

H T SRR LR 0 e ] o — e AL
St E) Sl A B A BUR F R A iR
AP E AR A, R S T T
Al b ke '

@BLoREIIE & e W

wfiE] e ERRAEW B A A LR =4
B AR AL I LA #3525 0T 0 3 b o A A AR A
KT (e, LT LA

@ R AR 8] 110 25 K 3 b 0 0BT S 4 2 A A k)
W :before, after, then, until, later, immediately %,

©® Ui A RECT MECTE Z B0 R, R IE T
B ik, 40: The long distance bus from Changsha to
Chenzhou usually takes 4 hours, but yesterday it took me two
hours more because of the heavy traffic.

Q: How long did it take him to get to Chenzhou
vesterday? (6 hours)

@ SRS RMRE k. EE— S OR (i]
i, 40

quarter, a couple of days, eve, dawn, day break.

[ 1](NMET 2003-5)

When should Susan go to meet Professor Brown?

AL Ac 10:00. B. At 10:30

C. At 11:00.

W 3 530 H ¢

W:Can I come to see you at 10:00, Professor Brown?

M:I"m sorry, Susan, but 1’ m meeting my students

then. Why not come halfl an hour later?

A RELTE % 5 2% A DT I 1] 4[]0 , 1 382 3R 2 A e i oy 39
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[ 2] (NMET2002-3)
How much a pound are the oranges?
A. 6 cents. B.

C. 60 cents.

UiFilis' e

M: Those oranges look nice. How much are they?

16 cents.

W:They re sixty cents a pound.

AR 25 8 25 2 T 0057 ) O e v 1 SR )
T AT BT X A A A R . Sixey B9 BT R
U'siksti ] 1] sixteen £ % 8 H [siks'tin] , AR IAER S &
G EWEHENBMN 2R, FRERNC.

[ 3] (NMET 2003-4) i

At what time does the train to Leeds leave?

AL 3:00. B. 3:15.

C. 5:00. '

W I

W:Excuse me, could vou tell me when the next train to

Manchester is?

M: Sure, well, it's three now. The next train to
Manchester leaves in two hours. But you can take a
train to Leeds, which leaves in 15 minutes, and
then get off at Manchester because it stops at
Manchester on the way.

ML i s three now” F1* .. & train to Leeds, which
leaves in 15 minutes. " A HIA B E £ 5 B,

(2) 48

X2 ] R A L [ A

Where does the conversation maost probably take place?

Where are the speakers now?

XX 28 (AL, 45 A 0 0 3 o 4 S 0 e RS
JLRHEAIE F Wi . — BT R B
R RGBT RN WU ER L R%. T
HH KA

School: lecture, paper, exam, grades, playground,
teacher.

Restaurant: menu, soup, drink, order, bill.

Airport | Station: train, timetable, take off, passenger,
flight.

Post office: parcel, package, stamp, postage.

Hospital:  cold,

fever, pain, cough, trouble,

temperature, patient, doctor.

[#1 1](2004- £ E%-9.10)

. Where is the woman going?
A. Bridge Street. B. The cinema.
C. The station.

2. Where is the cinema?
A. On the corner of Bridge Street.
B. Next o the station.
C. On Station Street,

W AR S0

W Excuse me, how can | get to the station, please?

M: The station? The station, let me see. Ah, ves, you

can go down—No, go straight on until you come to
a cinema. Let’s see now, that’s the second turning
on your right. The cinema’s on the corner. Turn
right on the cinema and you’ll be in Bridge Street. |
think it"s Bridge Street. Go along Bridge Street for
a few minutes, and then take the second, no, not
the second, the first, that's right. The first turning
on your left. The station is straight ahead, right in
front of you.

W:So, that's second right, and first left. Thank vou

very much. That's very kind of vou.

M:Don’ t mention it.

TEBRE A O T 30 S 0 R b A R R B T A &
A T ) B ) 1 ek oy A B ] 8 o L A
AN HAT (go straight) 2256 (turn left) #7F (turn right) )
Bo—seih 74 IEHEESIN C AL

[ 2] (NMET 2003-1)

Where did this conversation most probably take place?

A. At a concert. B. At a flower shop.

C. At a restaurant.

Wr 3 3R

M: The music and flowers are lovely.

W:Yes. | hope the food is good. too.

“music”, “flowers Fl" food” LR IE A A, g RN
Cs

[# 3](NMET 2002-18)

Where did Mrs. Winfield live before she moved to her

present home?

A. Dorset.
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S EE =

C. West London.
W S I8 3CH A — 5] B That was when | lived in
Harrow West London. FFLLE R C.
KIVN )|
Who 5 FHH A o] 5215 A0 B i, sh PR A9 AT & el 3%
5% Which 353 JeFp B RO S a7 8 18] . % LB
ﬁﬂ—F: ’
Who is the speaker?
Which subject will Jack take?
Which language is Jack speaking?
328 ] R E AN A B S o B A R R A T
LRI A 1) .
Teacher | Student: class, exam, homework, part-time
ob.
Salesman: price, on sale, try on.
Reporter: news, report.
(%1 1](NMET 2003-15.16)
1. Who'll cook the special dinner?
AL Mary. B. Mary’s friend.
C. Mary’s mother.
2. Who will do the shopping?
A, Mary’s father and maother.
H. Mary and her mother.
C. Mary and her father.
W A RS
M:Mary, tomorrow is your mum’s 50th birthday, do
you know?
W:Of course | do. How shall we celebrate it?
M:First of all, a birthday present. What about buying
her a beautiful skirt?
W:That's a good idea. It' 1l make her look younger.
And a big birthday cake, too, with 50 candles.
M:That"s right. Shall we have a special dinner?
W:How about a Chinese dinner?
M:Fine. Where shall we have 11?7
W:We can have it at home. 1" ve learnt to cook a few
dishes from a Chinese friend. 1" m sure Mum will
like it then.
M: All right. Are vou going to do the shopping as well?
W:Why don’t we go together, Dad?
M: OK. When?

R

W: How about this afternoon?

i — A SR B A RIS S A TE R AT S T R
FERIEHEGE & B b o ) F 1 5407 9 (o) e, % 4
— SR R X 0 2, RO R R B A A 1
AHE LA, T EH ARSI FIE R,

B BRSO H 4 H L HERMUR? RGP T
it e flih L HEER R AL B2 BIEFEER C,

[#1 2] (NMET 2002-1)

Who is Chris Paine?

AL A computer engineer. B, A bookseller.

C. A writer.

W A B3

W:I like 1o read Chris Paine.

M:So do 1. 1 hear he writes on his computer and his
new books will come out next week.

W:Great! ['ve got to get one as soon as it’s out.

M S read, writes, new books BL B come out( i

AHL, Chris Paine — & BA-EE LB R N C.

[t 2z &b, A7 s R 5% A 7 ORI IR 5 i,

REURY LR N] - SR B L RS O A U A

RSN, EAER A IR EE R

How old is the man | woman?

How long does it take them to get there if they take a
plane?

How did the man / woman go to Japan?

How much did the man [ woman pay for the dress?

How did they feel about the train?

KTHM B - REHITRANEE, %
HRR T BT A R R SR A A B
ia], i double, half, dozen, couple, thirty percent, three
times, century,etc. . [ AF I EBEITAYHRM], B 530 E
RIEHE ) TERFER SRR, FHILETEE because, for,
since, as, in order to, so that 5| A58 FEEE.

3. HERRR M

TCHSRESE T F7 oP AR A H O 5 AL P R R S B
— R A AR R A AU Y S R0 B 1] ik 0, LR —
e, TEWT FE AL E A S I T A TR TR B
TR A AT .

LA R R AN F

What can we learn from the passage?

What does the speaker mean?
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Which of the following is true?

MR B B S B A B sl ]
R A O AR, R E AR R, X
ARAHRIE EA7 By T2 8 AN 3R BB . ATRT, BiG & &
ﬁlﬁm,ﬁ%ﬂﬁiﬁ.m%ﬁﬂ.ﬁﬁm'lﬁ%ﬁ‘ﬁﬁiﬁﬂﬁﬁlﬁ.ﬁﬁﬂ,
LEUEA=IES ) 33

(] TI(NMET 2003-13)

Why is the man unhappy about their weekends?

AL They seldom invite friends over.

B. They seldom go out for a picnic.

C. They seldom spend the weckends tagether.

WIS Ay JL )

M:Yes, vou often have tea with your friends. And |

sometimes play cards with my friends. We seldom

do anything together. It s quite unlike when we |

were first married.

M KA P seldom™ * unlike™ 55 1T L4 HE T 1 fib 45 A

FCHIRE . HE C

[# 2] (NMET 2003-8)

What does the woman think at the end of the talk?

A. People should develop a habit like David”s.

B. People need longer hours of sleep.

C. People have different sleeping habits.

WIT 3 I SC A de i JL DA

Wil need at least seven hours. I once tried 1o follow
David’s example, but never worked out for me.

M: I sleep during the day, | can never wake up.

W: Not everyone is a David, | guess.

Mz AL LAY BT 4] 55 Not everyone is & David, 1

guess. " TR B A—E WL AR A AS TR Y BB 2 |

m-? %% (."5

ﬁ' AL -

(1)
E—1 (HS5/ME,8NMNE LSS, HBHT.59)

WE T S BOig . R BOHE IE A — /N, M
AT ALBLC A RTI AR BE  I (R RI, HE AR AR 2R i
R WPSE BB IR S L URERAT 10 F0 i b i[5 e ] 25
A1 K DREFN R T /N, R B 6 (38

( ) 1. For what did the girl borrow money?

A. Helping her friend Jenny.
B. Getting tickets for a rock concert.
C. Helping the baby she’s taking care of

2. What can we learn from the dialogue?
A. The girl will work 3 hours a day weekdays.
B. The girl has just graduated from university.
C. The girl will work all day Sundays.

3. When will Susan come?
A 4:45.
C. 5:15.

4. What do we know from the dialogue?

B. 5:00.

AL Mr. Stephen is in his room.
B. Mr. Siephen is out.

C. Mr. Stephen is expecting a phone call.

5. Why did the woman go 1o the place?
A. To show her passport.
B. To see [riends.
C. To remain there.
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( ) 6. What is the birthday present they decided to buy?
A A book. 3. A basketball.
C. A foathall.
{ ) 7. How much money do the two speakers have
altogether?
AL 6 dollars.
C. 8 dollars.
( ) 8. Why do they decide not 1o buy Alice a hook?
A. Because she doesn’t like reading at all.
B. Because she has lots of books in her room.
C. Because she has lots of books and her birthday

B. 14 dollars.

present last year was a book.
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( ) 9. Where is Bill going tomorrow morning?
A. The Science Museum.
B. The Ocean Park.
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C. The Restaurant.

( )10. Who will visit the science museum?
AL All the visitors coming to the city.
B. Alot of students from the city.

C. Bill and Joe and other friends.

( )11, What does Joe think of the restaurants in the

city?
A. The restaurants are hig.
3. The food in some restaurants is delicious.
C. Some of the restaurants are great.
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( )12, When did the dialogue take place?

A. Tuesday. B. Wednesday.
C. Thursday.
( J13. Why was the woman late that morning?

A. The bus service was very bad.
B. It was raining.
C. Her watch went wrong.
( )14, What happened to Miss Smith on Tuesday
morning”?
A. She was ill and the doctor was terrible.
B. She was kept waiting for a long time at the
doctor’s,
C. She couldn’t get a taxi.
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( J15. What class won't Nancy take?
A. English.
C. Maths.
( 116. How does Nancy feel about science?

AL She doesn’t have to ke it.

B Biology.

B. She likes biology.

C. She doesn’t like it.
( J17. What kind of job will the man iry to get?

AL Driving a taxi.

B. Working at a gas station.

C. Working at & restaurant.
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‘The attitude of the first student:

. Many of the traditional handicrafts are dying out.

b. Hoping it could 18. _ me, | bought one
candy sculpture.
The attitude of the second student :

a. Temple fairs offer the teenagers a good chance 1o
learn something.

b. Losing traditional cultures in the hands of our
generation is 19, L.

c. The father thought the traditional wrestling show is

20. than online games.
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( ) 1. What do we learn from this conversation?
A. The woman will go home for dinner.
B. The woman won’t go 1o the concert.
C. The man and the woman will eat together.
( ) 2. What are they doing now?
A. They are having a rest.
B. They want to keep something.
C. They are climbing a hill.
( ) 3. What did the man do last night?
A. He watched a play. 1. He did nothing.
C. He stayed at home.
( ) 4. Where are they talking now?
AL At a hotel. B. At the airport.
C. In the bookstore.
( J 5. Does the man often call home?
A. No. he doesn’t.
C. Yes, he does.
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3. Not very often.
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WrHE 6 BEXEE, %55 6 5 8 M, B. The man is going to ask the professor some
( ) 6. What's wrong with her bike? questions.
A. Something wrong with one of the wheels. C. The man is going to work for the professor.
B. Something wrong with the chain. { )16. How old is Professor Cooper?
C. Something wrong with the brake. A. In his sixties. B. In his fifties.
( ) 7. What does the man advise her 10 do? C. In his forties.
A. To buy a new bike. ( 117. What"s Professor Cooper like?
B. To have the bike repaired at once. _ A. Short and thin. B. Tall and thin.
C. To buy a new whedl. i C. Old and untidy:
() 8.Where can she find a repairman? B (HRNEENE 1L5 5, BN 455
A. About 180 meters away. W E—BR A 5 18 B 20 SAVNERI(E R
B. At the street corner. FhFESEEE AN AR =N R L O RRLT, PR A B )
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( } 9. What kind of drink does Tim like to have? Attitudes towards a happy pill
A, Orange juice. B, Tea. The attitude of the boy;
C. Beer. a. Forgetting the past means creating the future.
( J10. Why do all the people like 1o have lunch in the b. One can be happy to face everything when he forgets
garden? his 18. )
A It's nice and warm out there. c. We students often make mistakes because we don’t
B. They can have beer out there. always 19,
C. They can meet their [riends there. The attitude of the girl:
( )11, How many people can you tell from the talk? a. Suffering and sadness didn’ t affect many great
AL Two. B. Three. people’s achievements,
C. Four. b. 20. can help us succeed.
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( )12. Who has just moved into the new house? (3)
A. Miss Wang. B. The two speakers. B—F (HSME,BMNEL1.SH,EDT.59)
C. The man. Wi H G S BERE . BEOME A /B A AT
( )13, When will the party be given? 59 A B.C =4 R0 oh i Rk R 000, 345 5 i ¥ i A
A. This Monday evening. B Wroe BB GG , R AR 10 Fooh i e (8] % 2%
B. This Tuesday evening. I HRANEBEBET /M8 BEHEGE—H
C. This Saturday evening. ] ( ) 1.How do the detective stories attract the woman?
( )14, How long will the party last? I A. They attract her deeply.
A. Four hours. B. Five hours. | B. They don’t attract her a bit.
C. Six hours. i C. Only the short ones can attract her.
WSS 9 BEATIE, [ 5 15 £ 17 #i, ( )} 2. What does the woman suggest the man do?
(' )15.Why is the man asking about Professor Cooper? | A. Wait in the comer. B. Take a taxi.
A. The man is going to take the professor’ s ! C. Telephone the hotel.
course. [ ( ) 3. What is the relationship between the two
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speakers?

A. They are boss and employee.
B. They are colleagues( [ 5 ) .
C. They are close {riends.
( ) 4. Why is the woman unwilling 10 eall Susan?
A. Because she envies Susan’s beauty.
B. Because she has no time.
C. Because she is not familiar with Susan.
{ ) 5. What will the man do?
A. He will help the woman to tidy things up.
I3 He will help the woman 10 move things.
. He will go 1o visit the woman’s new house.
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{ } 6. Where did the man want to go?

A. London. B. Ireland.
. Edinburgh.
( } 7. How much is it for a return ticket?
A, L 46.5. 5. £ 23,
C. L 40,
( ) 8. What time was it at that moment? i
AL 2:00. B. 1:30, :

. 2:30.
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( ) 9. What is the dialogue about?
A. The man's new story.
3. The man’s daughter.
C. A movie star.
{ FHE. What

is  the

relationship  between  the two
speakers? i
A. They are husband and wife. [
H. They are {riends.
(. They are strangers.
( J11. What does the woman tell the man to do?

A. To talk to his daughter.
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H. Not 1o push his daughter.
C. To tell his daughter 10 study.
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( J12. Why hasn”t Mary seen John lately?
A.
B.

Because he has gone on a camping trip.
Because he has been busy preparing for the
final exam.

C. Because he has been traveling in the country.
{ 113. Who will go camping according 1o the dialogue?
A. John and Mary.

B. Mary and her brother.,

C. John and his brother.

( 4. What does John think of Mary’ s idea about
camping?
AL It7s not enly cheap but also wonderful.

B. It"s wonderful but unsafe.
C. Camping is close 1o nature but it tires people.
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{ )15, What are the man and woman doing?

A. Renting a house.

B. Talking about a house.

C. Selling a house.
( 116, What is the woman going to do next?

A. To sec other houses.

B. To sge the house again.

C. To buy some furniture.
( M7 What is NOT included in their talk?

A. The location(3 ) of the house.

B. The history of the house.

C. The price of the house.
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The attitude of the

a. Always shouldering the responsibility for accidents is
unfair to drivers.

b. If the walkers don’ t obey 18,

traffic laws, it may cause traffic accidents.
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The attitude of the man: AL A college student.
a. Many traffic accidents are caused by 19. B. A middle school student.
. 20. __ and drunk drivers. C. A housewife.
b. The walking people need more protection because | ( ) 7. What kind of job would the woman like 16 do?
they are often badly injured in an accident. A. Housework. B. Office work.
. Work in the open air.
(4) ( } 8. What job might the woman finally take?
F—F (XSMESME 159, BEHT5H) A. Working for a road-building company.
WETR R S B ARG . BERCOE IS AT TN MK o BT B. Cutting grass.
BRI ALBLC R B 0L g 32 A C. Typing letters in the office.
Fap it 8 O 58 4 B UT L UR AT 10 B B I JR) e [a] WisE 7 Bb R 5 9 F 1
AT NG LR F /L g B R 8 . ( ) 9. Where is Tom now?
( ) 1. How many colds has the man had? A. In the school. B. In a restaurant.
A Eight. B. Two. C. At the cinema.
C. Four. ( 110. Who answers the telephone?
( ) 2. What' s Mary' s address? AL Mrs. Brown, Tom' s sister.
A. 1664 Garden Strect. B. Mrs. Brown, Tom’s mother.
B. 1664 Guard Street C. Mrs. Black, Tom" s aunt.
C. 1646 Garden Street. ( J11. What does Bill want Tom 1o do?
[ ) 3. What does the woman want to do? A. Bring some food for the picnic.
AL To buy some stamps. B. Bring some toys for the game.
B. To mail something. C. Bring some toys for the trip.
C. To mail some letters. WPE 8 BERPRL M 12 E 14 8,
( ) 4. What is the probable relationship between the two | ( J12. How was the party like last night?
speakers? AL It was good. B. It failed completely.
A. Boss and secretary.  B. Teacher and student. C. It was dull.
C. Librarian and borrower. ( J13. Why couldn” t the woman go 1o the party last
( ) 5. What do we learn from the conversation? night? .
AL Dennis was a piano player. A. Because she wasn’t feeling well.
B. The woman didn’1 know the pianist, but she B. Because she forgot the date.
knew Dennis. C. Because she disliked it.
C. The woman didn’ t know who Dennis was. ( J14. What did she drink at night recently?
FIW (FH12NE.GME1S5H,HBS185) A. Beer. B. Coffee.
W F 4 B G B B SIS A LA N DR A C. Tea.
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VIR RELGE V7 8 T T B T P4 A B ) () 12 45 AN ML 4 | ( )15. What's the weather like in Greece?
NS BY B W E SR L A AN AT S B B AR A R g A. Pleasant. B. Terrible.
B T C. Neither good nor bad.
UL 6 B AR WIESE 0 8 R, ( )16. What' s the weather like in spring?
( )} 6. What was the woman speaker? A. The sun shines every day.




